

CH: 2 : Second order ODE 2.

→ $y'' + p(x)y' + q(x)y = r(x)$ → Linear "s.o" ODE

→ $y'' + p(x)y' + q(x)y = 0$ → Homogenous

→ The solution of $y'' + p(x)y' + q(x)y = 0$ is given by

$$y = C_1 y_1 + C_2 y_2$$

→ Basic of the function is $\{y_1, y_2\}$

* Reduce to First order

I] y missing

لما ما يكون عندي (y) بالحدود
بتعمل عن خلال الفرقه

$\begin{cases} Z = y' \\ Z' = y'' \end{cases}$

EX 2 $x^2 y'' + (y')^2 = 0$

$\begin{cases} Z = y' \\ Z' = y'' \end{cases} \left\{ \begin{array}{l} xZ' + Z^2 = 0 \rightarrow \text{by separable} \\ x \frac{dZ}{dx} = -Z^2 \rightarrow \int \frac{dZ}{Z^2} = \int \frac{-dx}{x^2} \end{array} \right.$

المتغير
→ Z

$\rightarrow \frac{1}{Z} = \frac{C_1 x + 1}{x}$

$-\frac{1}{dy/dx} = \frac{C_1 x + 1}{x} \rightarrow \frac{-dy}{dx} = \frac{x}{C_1 x + 1}$

$\int -dy = \int \frac{x}{C_1 x + 1} dx$

$\frac{1/C_1}{C_1 x + 1} \left[\begin{array}{l} x \\ -x + \frac{1}{C_1} \end{array} \right] = \frac{1}{C_1}$

$y = \int \frac{1}{C_1} + \frac{(\frac{1}{C_1})}{C_1 x + 1} dx$

$y = \frac{1}{C_1} x + \frac{1}{C_1^2} \ln |C_1 x + 1| + C_2$

(13)

$$\text{Ex. 2 } x y'' = y' + (y')^3$$

$$\left. \begin{array}{l} z = y' \\ z' = y'' \end{array} \right\} \begin{array}{l} x z' = z + z^3 \\ z' = \frac{z + z^3}{x} \end{array} \rightarrow \int \frac{dz}{z(1+z^2)} = \int \frac{dx}{x}$$

partial fraction

$$\frac{A}{z} + \frac{Bz+C}{z^2+1} = 1$$

$$A(z^2+1) + (Bz+C)(z) = 1$$

$$z=0 \rightarrow A=1$$

$$z=1 \rightarrow 2+B+C=1 \quad \left. \begin{array}{l} B=1 \\ C=0 \end{array} \right\}$$

$$z=-1 \rightarrow 2+B-C=1$$

$$\int \left[\frac{1}{z} - \frac{z}{z^2+1} \right] dz = \ln|x| + C_1$$

~~$$\ln \left| \frac{z^2}{z^2+1} \right| = \ln|x| + C_1$$~~

$$\left(\ln|z| - \frac{1}{2} \ln|z^2+1| = \ln|x| + C_1 \right) \times 2$$

$$\left(\ln \left| \frac{z^2}{z^2+1} \right| = \ln|x| + C_1 \right)$$

$$\frac{z^2}{z^2+1} = x^2 \cdot C_1 \cdot e = x^2 C_2$$

$$z^2 = C_2 x^2 z^2 + C_2 x^2$$

$$\left. \begin{array}{l} 2 \ln|z| \rightarrow \ln z^2 \\ 2 \ln|x| = \ln|x|^2 \end{array} \right\}$$

2] X-missing

$$y y'' - (y')^2 = y^2 y'$$

$$\begin{aligned} Z &= y' \\ y'' &= \frac{dZ}{dy} \\ y'' &= Z Z' \end{aligned} \quad \left[\begin{aligned} y \left(Z \frac{dZ}{dy} \right) - (Z)^2 &= y^2 Z \\ y Z Z' - Z^2 &= y^2 Z \\ \rightarrow \div (yZ) \end{aligned} \right]$$

become $\rightarrow Z' - \frac{Z}{y} = y$ (Linear)

$$u(y) = e^{\int -\frac{1}{y} dy} = \frac{1}{y}$$

$$Z = \frac{1}{u(y)} \int u(y) Q(y) dy = y \int \frac{1}{y} \cdot y dy = y^2 + C_1 y$$

$$Z = y^2 + C_1 y$$

$$y' = y^2 + C_1 y \rightarrow \frac{dy}{dx} = y^2 + C_1 y$$

separable

$$\int \frac{dy}{y(y+C_1)} = \int dx$$

⋮

⊗ ما تكون صيغة السؤال

⊗ بطل من خلال الفرضية

$$Z = y' \quad y'' = \frac{dZ}{dy} = Z \frac{dZ}{dy}$$

$$y'' = Z Z'$$

15

* one solution given

$$y'' + p(x)y' + q(x)y = r(x)$$

* y_1 is solution for corresponding homogenous ordinary DIFF eqn

* $y = y_1 u$

$$\Rightarrow u'' + \left(\frac{2y_1'}{y_1} + p(x) \right) u' = \frac{r(x)}{y_1}$$

~~Let~~ Let $Z = u'$
 $Z' = u''$

EX solve $x^2 y'' - 2y = x^2$, $y_1 = \frac{1}{x}$

$\rightarrow y = y_1 u = \frac{u}{x}$, $y_1 = x^{-1}$

$y_1' = -\frac{1}{x^2}$, $p(x) = 0$, $r(x) = 1$

$\Rightarrow$ ~~$u'' - \frac{2u'}{x} = x$~~

$\left. \begin{matrix} Z = u' \\ Z' = u'' \end{matrix} \right\} Z' - \frac{2Z}{x} = x \rightarrow \text{Linear}$

$u(x) = e^{\int -\frac{2}{x} dx} = \frac{1}{x^2}$

$Z = x^2 \int \frac{1}{x^2} \cdot x dx \rightarrow Z = x^2 \ln x + x^2 C_1$

~~$u' = x^2 \int \frac{1}{x^2} \cdot x dx$~~

$\frac{du}{dx} = \int u' = \int x^2 \ln x + x^2 C_1$
Integrate

* Given one solution [special case]

when $y'' + p(x)y' + q(x)y = 0$, and given y_1 ,

$$\text{Then } y_2 = y_1 \int \frac{e^{-\int p(x)dx}}{y_1^2} dx$$

General solution is $y = C_1 y_1 + C_2 y_2$

Ex 1 - solve $x(y'') - (x+2)y' + 2y = 0$, $y_1 = e^x$

$$y_2 = y_1 \int \frac{e^{-\int p(x)dx}}{y_1^2} dx = e^x \int \frac{e^{-\int \frac{1+2}{x} dx}}{e^{2x}} dx = e^x \int \frac{x^2 e^x}{e^{2x}} dx$$

$u = \frac{x^2 e^x}{e^{2x}}$

$$\rightarrow \boxed{y'' - \left(1 + \frac{2}{x}\right)y' + \frac{2}{x}y = 0} \rightarrow \text{General form}$$

$$y_2 = e^x \int x^2 e^{-x} dx \rightarrow e^x [-x^2 e^{-x} - 2x e^{-x} - 2e^{-x}]$$

$$y_2 = -(x^2 + 2x + 2)$$

$$y = C_1 y_1 + C_2 y_2 = C_1 e^x - C_2 (x^2 + 2x + 2)$$

Ex 2 IF $xy'' + 2y' + xy = 0$ and $y_1 = \frac{\sin x}{x}$ find y_2

$$\text{G.O.F} \rightarrow y'' + \frac{2y'}{x} + y = 0$$

$$\begin{aligned} y_2 &= y_1 \int \frac{e^{-\int p(x)dx}}{y_1^2} dx = \frac{\sin x}{x} \int \frac{e^{-\int \frac{2}{x} dx}}{\frac{\sin^2 x}{x^2}} dx = \frac{\sin x}{x} \int \frac{x^2}{\sin^2 x} dx \\ &= \frac{\sin x}{x} \int \frac{1}{\sin^2 x} dx = \frac{\sin x}{x} [-\cot x] = \frac{\sin x}{x} \cdot \frac{-\cos x}{\sin x} = -\frac{\cos x}{x} \end{aligned}$$

$$y_2 = -\frac{\cos x}{x}$$

(17)

* Second order linear homogeneous ODE with constant coefficient &

$G, F \rightarrow y'' + ay' + by = 0$, $[a, b \rightarrow \text{are constants}]$

General solution $\rightarrow y = C_1 e^{\lambda_1 x} + C_2 e^{\lambda_2 x}$

Basic solution $\rightarrow [e^{\lambda_1 x}, e^{\lambda_2 x}]$

$\rightarrow$ 3 - Cases for solving

- $\rightarrow$ distinct roots $\rightarrow \lambda_1 \neq \lambda_2$
- $\rightarrow$ repeated roots $\rightarrow \lambda_1 = \lambda_2$
- $\rightarrow$ Complex roots $\rightarrow \lambda = \alpha \pm \beta i$

* مثال: نحل المعادلة التفاضلية $y'' - 5y' + 6y = 0$ لكل x .

$\rightarrow$ characteristic equation

$ay'' + by' + cy = 0$

$\downarrow$ $\downarrow$ $\downarrow$
 y'' y' y

$ar^2 + br + c = 0$
 $\downarrow$ $\downarrow$ $\downarrow$
 y'' y' y
 or $a\lambda^2 + b\lambda + c = 0$
 الجذور المميزة

Ex $y'' - 5y' + 6y = 0$

1 write characteristic equation $\rightarrow r^2 - 5r + 6 = 0$

$\lambda^2 - 5\lambda + 6 = 0$

~~$(\lambda - 3)(\lambda - 2) = 0$~~

$(\lambda - 3)(\lambda - 2) = 0$

$\lambda_1 = 3, \lambda_2 = 2$

$\lambda_1 \neq \lambda_2$ Case 1

$y = C_1 y_1 + C_2 y_2$
 $= C_1 e^{\lambda_1 x} + C_2 e^{\lambda_2 x}$
 $= C_1 e^{3x} + C_2 e^{2x}$

18

* يجب أن يكون y_1 و y_2 Independent إذا كان $Dependent$ 2)
 نعتبر حل واحد وهذا لا يجوز لأنه (second order) يجب أن يكون حلين
 حلين مختلفين فإذا كان عندنا y_1, y_2 (dependent) 2, 1 حلين
 (indep)

← كيف نعرف إذا كانوا حلول $Dependent$ أو لا؟

$$\text{IF } \frac{y_1}{y_2} \text{ or } \frac{y_2}{y_1} = k \rightarrow \text{dependent}, k = \text{constant}$$

$$\text{IF } \frac{y_1}{y_2} \text{ or } \frac{y_2}{y_1} \neq k \rightarrow \text{indep}, k = \text{constant}$$

EX :- $y_1 = x^2, y_2 = x^3$ dep or indep?

$$\frac{y_1}{y_2} = \frac{x^2}{x^3} = \frac{1}{x} \rightarrow \frac{1}{x} \neq k \rightarrow \text{indep}$$

EX 2 $y_1 = 150e^{3x}$ و $y_2 = 3e^{3x}$ dep or indep?

$$\frac{y_1}{y_2} = \frac{150e^{3x}}{3e^{3x}} = \frac{150}{3} \rightarrow 50 = k \text{ dep}$$

EX (Case 2) 2 $2y'' + 8y' + 8y = 0 \rightarrow \cancel{y'' + 4y' + 4y = 0}$
 $y'' + 4y' + 4y = 0$ (G.F)

Ch. eq $\rightarrow \lambda^2 + 4\lambda + 4 = 0$
 $(\lambda + 2)(\lambda + 2) = 0$

(19)

dep $\lambda_1 = \lambda_2 = 0$

$y = c_1 e^{2x} + c_2 x e^{2x} \rightarrow$ هذا لا يجوز لأنه المعتمد (dep) فبنسب y_2 بـ (x)
 مكانه يصبحوا (indep)

G.S $y = c_1 e^{2x} + c_2 x e^{2x}$ indep

EX (Case 3) & solve & $y'' - 6y' + 10y = 0$ Complex = $\sqrt{-1} = i$

Π ch. eq $\rightarrow \lambda^2 - 6\lambda + 10 = 0$

Use $\lambda = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{6 \pm \sqrt{-4}}{2} = \frac{6 \pm \sqrt{-1} \sqrt{4}}{2} = \frac{6 \pm 1i}{2} = 3 \pm 1i$
 $1 = \beta$

$\rightarrow y_1 = e^{4x} \cos(\beta x) \quad y_2 = e^{4x} \sin(\beta x)$

G.S $\rightarrow y = C_1 e^{4x} \cos(\beta x) + C_2 e^{4x} \sin(\beta x)$

$\rightarrow y = C_1 e^{3x} \cos(x) + C_2 e^{3x} \sin(x)$
 $= e^{3x} [C_1 \cos(x) + C_2 \sin(x)]$

EX & Find Basic solution of $y'' - 10y' + 25y = 0$

$$\lambda^2 - 10\lambda + 25 = 0$$

$$(\lambda - 5)(\lambda - 5) = 0$$

$\lambda_1 = \lambda_2 = 5 \rightarrow \text{repeated}$

$y_1 = e^{5x} \quad y_2 = x e^{5x}$

Basic solution = $[e^{5x}, x e^{5x}]$

20

EX 3- solve $y'' + 4y = 0, y(0) = 0, y'(0) = 2$

$$\lambda^2 + 4 = 0$$

$$\lambda = \pm 2i$$

$$y = C_1 \cos 2x + C_2 \sin 2x$$

$$y' = -2C_1 \sin 2x + 2C_2 \cos 2x$$

* $y'(0) = 2$

$$2 = 2C_2 \rightarrow C_2 = 1$$

* $y(0) = 0$

$$0 = C_1$$

G.S : $y = \sin 2x$

* لهذا النوع من المسائل نكتب الجواب ونبطب شكل السؤال .

EX 8 $y = (C_1 e^{5x} + C_2 e^x)$

From solution $\rightarrow \lambda_1 = 5 \quad \lambda_2 = 1$
 $(\lambda - 5) \quad \leftarrow \quad \rightarrow (\lambda - 1)$

Characteristic eq = $(\lambda - 5)(\lambda - 1) = 0$

$$\lambda^2 - \lambda - 5\lambda + 6 = 0$$

$$\lambda^2 - 6\lambda + 6 = 0$$

$$y'' - 6y' + 6y = 0$$

EX 8 $y = e^{2x} (C_1 + C_2 x) \rightarrow \text{repeated form}$

From solution $\rightarrow \lambda_1 = \lambda_2 = 2$

$$(\lambda - 2)(\lambda - 2) = 0$$

$$\lambda^2 - 4\lambda + 4 = 0$$

$$y'' - 4y' + 4y = 0$$

EX 8 $y = e^{3x} (C_1 \cos 2x + C_2 \sin 2x) \rightarrow \text{Complex Form}$
 $\lambda \pm \beta i$

From solution $\rightarrow \lambda = 3 \pm 2i$

$$(\lambda - (3 + 2i))(\lambda - (3 - 2i)) = 0$$

$$(\lambda - 3 - 2i)(\lambda - 3 + 2i) = 0$$

~~$$\lambda^2 - 3\lambda + 2\lambda i - 3\lambda + 9 - 6i - 2\lambda i + 6i$$~~

~~$$\lambda^2 - 3\lambda + 2\lambda i - 3\lambda + 9 - 6i - 2\lambda i + 6i - 4(i)^2 = 0$$~~

$$\lambda^2 - 6\lambda + 9 + 4 = 0 \rightarrow \lambda^2 - 6\lambda + 13 = 0$$

$$y'' - 6y' + 13y = 0$$

$i = \sqrt{-1}$
 $i^2 = -1$

(21)

* Euler - Cauchy GDE [Non-constant coeff] &

→ General Form For second order: $x^2 y'' + axy' + by = 0$

→ G.S :- $y_1 = x^{\lambda_1}, y_2 = x^{\lambda_2}$

$$y = C_1 x^{\lambda_1} + C_2 x^{\lambda_2}$$

→ Characteristic eq For Euler &

1] $m(m-1) + am + b = 0$ $\rightarrow$ G.S $\rightarrow$ استخدمنا بعض المعادلات، ويطالب

2] $m^2 + (a-1)m + b = 0$ $\rightarrow$ استخدمنا بعض المعادلات، ويطالب

بشكل
م
م
م

3- Case 5

$$\lambda_1 \neq \lambda_2$$

$$\downarrow$$

$$y_1 = x^{\lambda_1}, y_2 = x^{\lambda_2}$$

$$G.S : y = C_1 x^{\lambda_1} + C_2 x^{\lambda_2}$$

$$\lambda_1 = \lambda_2$$

$$\downarrow$$

$$y_1 = x^{\lambda}, y_2 = x^{\lambda} \ln x$$

$$G.S : y = C_1 x^{\lambda} + C_2 \ln x x^{\lambda}$$

$$\lambda = \alpha \pm \beta i$$

$$\downarrow$$

$$y_1 = x^{\alpha} \cos(\beta \ln x)$$

$$y_2 = x^{\alpha} \sin(\beta \ln x)$$

$$y = x^{\alpha} [\cos(\beta \ln x) + C_2 \sin(\beta \ln x)]$$

Ex & $x^2 y'' - xy' - 3y = 0 \rightarrow$

المعادلة، ويطالب

$$\rightarrow m(m-1) + am + b = 0$$

$$\rightarrow \lambda(\lambda-1) + a\lambda + b = 0$$

$$\lambda^2 - \lambda + -1\lambda - 3 = 0$$

$$\lambda^2 - 2\lambda - 3 = 0$$

$$(\lambda - 3)(\lambda + 1) = 0$$

$$\lambda_1 = +3, \lambda_2 = -1$$

$$G.S : y = C_1 x^3 + C_2 x^{-1}$$

22

Ex 8 $x^2 y'' - x y' + y = 0$

$$\lambda(\lambda-1) + a\lambda + b = 0$$

$$\lambda(\lambda-1) - \lambda + 1 = 0$$

$$\lambda^2 - \lambda - \lambda + 1 = 0 \rightarrow \lambda^2 - 2\lambda + 1 = 0$$

$$(\lambda-1)(\lambda-1) = 0$$

$$\lambda_1 = \lambda_2 = 0 \rightarrow \text{repeated}$$

G.S $y = C_1 x + C_2 \ln x x$

Ex 8 $x^2 y'' + 7x y' + 10y = 0$

$$\lambda(\lambda-1) + 7\lambda + 10 = 0$$

$$\lambda^2 - \lambda + 7\lambda + 10 = 0$$

$$\lambda^2 + 6\lambda + 10 = 0$$

$$\lambda = \frac{-6 \pm \sqrt{-4}}{2} = -3 \pm i$$

$y = x^{-3} [C_1 \cos(\ln x) + C_2 \sin(\ln x)]$ } G.S

Ex 8 Find S.O ODE whose solution is $y = C_1 x^2 + C_2 x^5$

$$(\lambda-2)(\lambda-5) = 0$$

$$\lambda^2 - 5\lambda - 2\lambda + 10 = 0$$

$$\lambda^2 - 7\lambda + 10 = 0$$

(23)

$$\lambda^2 + (a-1)\lambda + 10 = 0 \rightarrow \text{مقابلته مع المعادلة الأصلية}$$

~~$$\lambda^2 - 7\lambda + 10 = 0$$~~
$$a-1 = -7 \rightarrow \lambda^2 - 6\lambda + 10 = 0$$

$$\boxed{a = -6}$$

$$x^2 y'' - 6x y' + 10y = 0$$

Ex 2 Find s.o ODE whose solution is

$$y = x [C_1 \cos(2 \ln x) + C_2 \sin(2 \ln x)]$$

$$\lambda = 1 \pm 2i$$

$$(\lambda - (1+2i))(\lambda - (1-2i)) = 0$$

$$\lambda^2 - \lambda + 2\lambda i - \lambda + 1 - 2i - 2\lambda i + 2i^2 + 4i^2 = 0$$

$$\lambda^2 - 2\lambda + 5 = 0$$

$$\lambda^2 + (a-1)\lambda + b = 0$$

$$a-1 = -2$$

$$\boxed{a = -1}$$

$$\lambda^2 - \lambda + 5 = 0$$

$$\boxed{x^2 y'' - x y' + 5y = 0}$$

* Non-Homogeneous ODE

$$G.F :- y'' + p(x)y' + q(x)y = r(x)$$

$$G.S \& y = y_h + y_p, \left\{ \begin{array}{l} y_h \rightarrow \text{The solution when eqn equation is Homogeneous} \\ r(x) = 0 \end{array} \right.$$

y_p $\rightarrow$ Called particular solution
 $\rightarrow$ solution for Non-Homo

(24)

Non-Homo. solved by $\rightarrow$ undetermined coeff & method
 $\rightarrow$ Variation of parameters method

Undetermined Coeffs

- * لم يصنفه الطريقة شكل مـ موجود بالمجدول الذي معطيت إياه مباشرة وإذا لفتينا الشكل بالمجدول بـ undetermined وإذا لم يرد في Variation.
- * يجب أن لا يكون هناك أي تشابه بين شكل y_h و y_p ، وإذا لفتينا تشابه، اء غير شكل مـ.

$v(x)$	y_p
$k e^{ax}$	$A e^{ax}$
$k x^n$	$Ax^n + Bx^{n-1} + Cx^{n-2} \dots \text{Constant}$
$k \cos wx$ $k \sin wx$	$k_1 \cos wx + k_2 \sin wx$
$k e^{ax} \cos wx$ $k e^{ax} \sin wx$	$e^{ax} (k_1 \cos wx + k_2 \sin wx)$

* للتأثيرات حل مـ 3-

1- إذا كان $(kx^n + Ae^{ax} + \dots) = v(x)$ فإن $y_p = y_{p1} + y_{p2} + \dots$

EX 1 $v(x) = x^2 + 3 \cos 3x$

$$y(p) = y_{p1} + y_{p2} = \underbrace{Ax^2 + Bx + C}_{y_{p1}} + \underbrace{k_1 \cos 3x + k_2 \sin 3x}_{y_{p2}}$$

2- إذا كان هناك تشابه بين y_h و y_p بفرض مـ $(x^2, x, 1, \dots)$ أو $(\cos x, \sin x)$ أو $(e^{ax}, x e^{ax}, x^2 e^{ax}, \dots)$ كانت مسألة Euler

EX 2 $y_h = C_1 e^{3x} + C_2 e^{-x}$
 $y_p = A e^{7x} + B x e^{-x}$

لـ ضرباتها بـ x لئلا يتشابه

(25)

EX 2 Find the form of y_p for the ODEs:-

$$y'' - 3y' + 2y = 6e^{-x} + e^x + e^{2x}$$

$$y_h \rightarrow y'' - 3y' + 2y = 0$$

$$\lambda^2 - 3\lambda + 2 = 0 \rightarrow \lambda_1 = 2, \lambda_2 = 1$$

$$y_h = C_1 e^{2x} + C_2 e^x$$

$$y_p = A e^{-x} + B e^x + C e^{2x} \rightarrow \text{from table}$$

بملاحظة في تشابه بين y_h و e^x و e^{2x} ، وبالتالي
 نوع المعادلة: Constant Coefficient
 بغير x في الأس

$$y_p = A e^{-x} + B x e^x + C x e^{2x}$$

EX 2 Find the form of y_p for the ODE &-

$$x^2 y'' - x y' + y = e^x$$

$$y_h = C_1 x + C_2 x \ln(x)$$

$$y_p = A e^x$$

نظرًا لوجود e^x في y_h ،
 لذلك ما في تشابه بين y_h و y_p .

26

EX 2 IF $y_h = C_1 x^2 + C_2 x^2 \ln(x)$ and $r(x) = e^{7x} + 3x^2$, Find

y_p ?

$$y_p = C_1 (\ln(x))^2 x^2 + C_2 x^2 \ln(x) + A e^{7x}$$

نظرًا لوجود x^2 في y_h ،
 لذلك ما في تشابه بين y_h و y_p .

EX 2 solve $x^2 y'' - xy' + y = e^x$

$$y_h = C_1 x + C_2 x \ln x$$

$$y_p = A e^x \quad \text{From table}$$

$$\begin{aligned} y_p' &= A e^x \\ y_p'' &= A e^x \end{aligned} \quad \left. \begin{array}{l} \text{مشتق اول} \\ \text{مشتق دوم} \\ \text{(A)} \end{array} \right\}$$

$$\Rightarrow x^2 (A e^x) - x (A e^x) + A e^x = e^x$$

$$A e^x = e^x \rightarrow \boxed{A = 1}$$

G.S of $y = y_h + y_p$

$$= \boxed{C_1 x + C_2 x \ln(x) + e^x}$$

EX 2 $y'' + 9y = 6 \sin 3x$ solve

$$y_h = C_1 \cos 3x + C_2 \sin 3x$$

$$y_p = x (A \cos 3x + B \sin 3x) \quad \rightarrow \text{from table}$$

$$y_p' = (A \cos 3x + B \sin 3x) + x (-3A \sin 3x + 3B \cos 3x) \quad (27)$$

$$y_p'' = (-3A \sin 3x + 3B \cos 3x) + (-3A \sin 3x + 3B \cos 3x) + x (-9A \cos 3x - 9B \sin 3x)$$

$$\rightarrow y'' + 9y = -6(A \sin 3x - B \cos 3x) - 9x(A \cos 3x + B \sin 3x) + 9x(A \cos 3x + B \sin 3x) \quad y_p = -x \cos 3x$$

$$\begin{aligned} -6A &= 6 & 6B &= 0 \\ \boxed{A = -1} & & \boxed{B = 0} & \end{aligned} \rightarrow \boxed{y = C_1 \cos 3x + C_2 \sin 3x - x \cos 3x}$$

Ex Find S.O ODE whose solution is

~~$y = C_1 \cos 2x + C_2 \sin 2x$~~

$$y = C_1 \cos 2x + C_2 \sin 2x - \sin 3x$$

* $y_h = C_1 \cos 2x + C_2 \sin 2x$

* $y_p = -\sin 3x$

→ From $y_h \rightarrow \lambda = \pm 2i$

$$(\lambda - 2i)(\lambda + 2i) = 0$$

$$\lambda^2 + 4 = 0$$

$$y'' + 4y = r(x)$$

→ $y_p = -\sin 3x$

$$\left. \begin{array}{l} y_p = -\sin 3x \\ y'_p = -3\cos 3x \\ y''_p = 9\sin 3x \end{array} \right\} \begin{array}{l} \text{مشتق} \\ \text{بالنسبة لـ } x \end{array}$$

$$y''_p + 4y_p = r(x)$$

$$9\sin 3x - 4\sin 3x = r(x) \rightarrow \boxed{r(x) = 5\sin 3x}$$

$$\Rightarrow y'' + 4y = 5\sin 3x$$

28

* Variation of parameters method

$$\rightarrow y = y_h + y_p, \quad y_h = C_1 y_1 + C_2 y_2$$

$$y_p = y_1 \int \frac{W_1}{W} + y_2 \int \frac{W_2}{W}$$

* Wronskian

$$\Rightarrow y'' + p(x)y' + q(x)y = 0$$

$$y = C_1 y_1 + C_2 y_2$$

$$W(y_1, y_2) = \begin{vmatrix} y_1 & y_2 \\ y_1' & y_2' \end{vmatrix} = y_1 y_2' - y_2 y_1'$$

$$\begin{aligned} * \text{ IF } y_1 y_2' - y_2 y_1' &= 0 \rightarrow \text{Linearly dependent} \\ // \quad // \quad \neq 0 &\rightarrow // \quad \text{independent} \end{aligned}$$

$$\underline{\text{EX 2}} \quad W(x, 2x) = \begin{vmatrix} x & 2x \\ 1 & 2 \end{vmatrix} = 2x - 2x = 0 \quad \text{L.D}$$

$$\underline{\text{EX 2}} \quad W(x, x^2) = \begin{vmatrix} x & x^2 \\ 1 & 2x \end{vmatrix} = 2x^2 - x^2 = x^2 \quad \text{L. Ind}$$

~~Wronskian~~

29

$$W(y_1, y_2) = \begin{vmatrix} y_1 & y_2 \\ y_1' & y_2' \end{vmatrix}$$

المعمولة بالقانون

$$W_1 = \begin{vmatrix} 0 & y_2 \\ h(x) & y_2' \end{vmatrix} \quad \text{و} \quad W_2 = \begin{vmatrix} y_1 & 0 \\ y_1' & h(x) \end{vmatrix}$$

المعمولة بالقانون

Ex & $y'' - 3y' + 2y = \cos(\bar{e}^x)$

$y_h \Rightarrow$

$$\lambda^2 - 3\lambda + 2 = 0$$

$$(\lambda - 2)(\lambda - 1) = 0$$

$$\lambda_1 = 2, \lambda_2 = 1$$

$$y_h = C_1 e^x + C_2 e^{2x}$$

Not exist in the table, then we will use Variation

$$① W(e^x, e^{2x}) = \begin{vmatrix} e^x & e^{2x} \\ e^x & 2e^{2x} \end{vmatrix} = e^{3x}$$

$$② W_1 = \begin{vmatrix} 0 & e^{2x} \\ \cos(\bar{e}^x) & 2e^{2x} \end{vmatrix} = -e^{2x} \cos(\bar{e}^x)$$

$$③ W_2 = \begin{vmatrix} e^x & 0 \\ x & \cos(\bar{e}^x) \end{vmatrix} = e^x \cos(\bar{e}^x)$$

$$* \int \frac{W_1}{W} = \int \frac{-e^{2x} \cos(\bar{e}^x)}{e^{3x}} = \int \bar{e}^{-x} \cos(\bar{e}^x) dx$$

$$* \int \frac{W_2}{W} = \int \frac{e^x \cos(\bar{e}^x)}{e^{3x}} = \int \bar{e}^{-2x} \cos(\bar{e}^x) dx$$

substitution
ip part

بالتعويض
نجد ما في جزاء
بجاء

$$y_p = e^x \sin(\bar{e}^x) + e^{2x} (\bar{e}^x \cos(\bar{e}^x) - \cos(\bar{e}^x)) = -e^{2x} \cos \bar{e}^x$$

$$y = C_1 e^x + C_2 e^{2x} - e^{2x} \cos(\bar{e}^x)$$